®
28
@
29
©)
210
@
211
®
212

= (28
)5
224
-15
— 29




1 2x-1
(3)  =orr 2 c ol g Fotoler

3—2x+1 — (33)x+2 — 33x+6
—2x aF 1= 3X aF 6
e — =1




rr

;g | =

stk =

3 . 4 18
Zif ol BRnEso g EHSHH —
61} 44 = &0t 5 ° 50
4<x<18
24 24 24

, 6,9, 12, 152 47]jo|tc},

24— 2 x 30|82 §Ea42 LRy elnl 1k 39 vjdo]ofo}




14a _ =
2 St g4t obd 84T H7] $Iet a o] ST
XXX T t A7t of (3 T

(2, a <100, a = AAF)

@304 @34 @M @nA  ©uA

14a a _
- 7} 9FtAaZo|BE 4 1 10005
BXIXEXT ~ Bx3xE | TaEFlERas st

o] 3] uj4-o]ct.




B g s e o,
Fatelet,

=

> 3E: 3

A= ol 100 WA o] e

36
111
100

=0.324324--- = 0.324

+3=233---1 0B &

A ozl 100 HA] &A= 3 o]},




x=1375 < o, 103x - 102x & L5toia}.
=i

>
[> =g 1238

B

10002=1375,555---
-) 100z= 137,555
900x=1238
whatA]
10%x — 102x = 1000x — 100x = 900x = 1238




> o A

40 a 70

—_— < — < —

90 90 90

SetAaLT) 7] Yl g =9 o HijgoofslE R
40 T} 70 Ate] Q] 9 O] Hlj4== 45, 54, 63 2] 3 7Ho|T.




28442203 940.02 0 T 0.ab BT T, 0.5-0.0a S &
LreRA 7129
D 0.48 @0.52 ® 0.56 @ 0.60
03+002—3+2—035 “a=3,b=5

B TV R FATe 0=

) . . 5 47 .
0b-00a=05-003=>-— = =052

a 990 90




=2 =2 A

PG A & SBASE Yehhsu, Aol B2 R HolA
o o %@011‘:_1:1": = 25 HolA gl 0.527} = et
A

- b
AA 05 = 9

El

44052 = % 3;
wakA #-g0] 7R
(Fgol7t B Bt 47
(AAol7k & 22) 9

= Aotk




10. o= H7] &2

H7]
@ 84 — 212 @ (_25)4 — _58
@ 278 — 311 @ 645 — 230
© 9,0 )3, ® ® OG0
ONGNE) ® 0,6,




11.

= 9(x%y)3 (0?)? Xy
A=Y =~ )’1; c O] ]IH b ol o 2
© Xy (2)6)3 8 (3)63)72)2 e 4 ‘ %):

@ 2 @ ® 8 @16  © 32

oy)* | () xy
xy (207 0 (3x%)y?)?
6,3 3
_ 9x°y « 8x X
xy x2yt 7 9xOyt

8x
:y—5:
a=8, b=1, c=-5
a+b+c=8+1-5=4

8xy™>




3* 25y

12, 5 =27, 5 = 625 D 1, 647 625" ©] A2 o] 5 Fobw?
@ 102 @ 1272 ® 17#4d]
@ 202+ @%xm

3x — 27 % 9—x+y — 33 X 3—2x+2y — 3—2x+2y+3
Tx=-2x+2y+4+3
25%1Y = 625 x 5 = 5% x 53 = 5P +4
L 2x+2y=3y+4
5 Ag Agatn
xX=095,y=26
647 x 625" = (26)5 x (54)6 = 230 x 524
= (10)% x 26 = 64 x 10%*

whebA 26 24 ©f S=ot,




13. 24t3a 420 — 512 A W, g 9] gh= Fshoiet
B

>
> et 3

od =

gintie . g2 _ 519
24n+3a - 24n — 29

Il
w

dn+3a—4n =9 Soa




3x°y
2,12 3,2 1o
(=3x%y)* =+ 22 - 2x°y XX—QQJ%AS?
@D 3xy? @ -3x3y
<@>4x2 ® 4x%y

@ —4x?




15. 216 =3"(3"-1) & @, m+n 2] G2

® 2 @ 3 ® 4 @)5 ® 6

216 = 33 x 23 =33 x8 =33(32 - 1) = 3"(3" - 1)

m=3, n=2 Lom+n=>5




16. 4709 %= a. b, ¢, dol Hate] 715 | |2 |7 Z — ad—be B #9]
C

qtet.
3
’ x+2y—3 —15 %9

—x4+1 =

y—x+ 5

5 3 3
@x—i);—?) @x—§y7—2 ®x+§y—1
@—x+§y ® —x+ 3y

1
(x—|-2y—3)><§— —E)x(y—x—i-l)
_(_x+ _§)_ 3 +§x_§>
BACHERA 2Y T Ty
I T S,
Tty Ty TRy T Ty




17. S o34 A, Bol thoto] A«B = A-3B 2t %

,B=x*-3x+5°] ot (A«B)«BE ‘_}?}6]8}?3?

@ -5x% -20x-22 @—5x2+20x—34
® 2x2-x+1 @ 2x°+5x+9

® 5x2+22x—4

B

(AxB)*B=(A-3B)-3B=A-6B0|E&
(x> +2x—4) - 6(x* - 3x +5)
=x%2+2x—4-6x>+18x-30

= —5x% + 20x — 34




18.

~da-{3a+5b-20a-2- )} =-a-1p 2w, [__]

bl &2 427

® -3b-2a @ -b-4a @b—2a

@ 2a+3b ® 3a+3b

B

~da-{3a+5b-2(a-2b-[ )}
=-da-(3a+5b-2a+4b+2 )
= 4a-3a-5b+2a-4b-2 |
=5a-9b-9  |=-a-11b

[ ]=b-2a




19. o3 AollA POl 322 (Ha#b+#c)

a b c
T @-ba-o  b-ob-a)  (c-a)c-b)
@o @ 1 ® 2 @ 3 ® 4
S5
P= 2 S + g

—-a -b —c
@-b)c—a)  (b-0a-b)  (c—a)b-0)
_ —a(b—-c)—b(c—a)—c(a-b)

(a=b)(b-c)(c—a)

—ab + ac — bc + ab — ac + bc —0

(a=Db)(b-c)(c—a)




20. xyz#0,xy=qa,yz2=b,zx=cLQ W, x> +y2 + 229 %= a, b, cl
oo v =2 A Yrebd 7122

@ be ac a5 b ac ab g b ac ab
bc a %9 157 c ab c b a
C ac a C ac a

© F+5+T @T+G+7

x%y?72 = abc ©]al

5 abc  abc  ac
XN == — = —
y222 B2 b

o abc abc ab

= 22 2 c
5 abc abc  bc
= —— —

x2y2 a2 a

ac ab bc
= U e e
b c a




21.

a-b<0,a+b<0,b>0% 0, ot = 22 ¢S ALY

@ lal > |b| @ a<b ® ad < b3

@ a<0 @

B

D®a<0,b>0,a+b<0°lA a2 dHgto] b o] AHZGHETE
Ath= AS & 4 AT Jal > 1b]
@a-b<09X a<b
®a®<0,b3>0.. a®<b?
@b>0,a+b<0°Xa<0
1

® lal > |b] ©17] W] E’ < ‘Z'




22,

2l 6a —

o 9<3(x-3)-2x8 =%
F7F2d o, A

o o

SH= —x o] g FolA Fhg 2

a®] gke] HgLe?

6a-9<3(x-3)-2xE

6a—9<3x—9-2x

9 B5AS sk by 2

gelstd

$7F 202 2< —6a< 3




23.

2 _ _
(x+4) + (=x) < ; +28 WESHE A4 F AERS bt

o, a - b2 FH2?

@ 10 @ 11 3®)12 @ 13 ® 14

msn

~&B

XL T 2o o) g2 BT
3 2 3
2x + 2+ 21 > 4x
—2x > —-23
e B
2
webA] o — 110]d}.

1 2 -
SGH4) 4+ (-x) < T15 29 o] 3.8 Fop

x+4-3x<2+x+6
-3x<4

x> —=

WA b = 10|},
Ca-b=11-(-1) =12




24.

m-1<19% o, A4 5mx — 2m < 10x — 4 9] =2

® x<

@ xsg (@)xz

@ x>

(231 )
ol w

Ut =

® x

=

Ol >

~&B

m-1<19m-2<0
5mx —2m < 10x — 4
5(m—2)x < 2(m - 2)

Lx>- (v m-2<0)

ol N




2x3_1 +2a > 3x;5 + 5x2_4 E WESHE Fo] AU

grol S olek. oful, 44 o o & - P S 2 42 O] 2
Fatoleh (@ x, yi 5 HTHZe %)

> =

> EED 10

2x -1 -4 _ _
=1 oas 3’“;5+"”“T o] oFuof 6 & Zahe] Aelstn
dx -2+ 12a>3x+ 5+ 15x—12

4x—3x—15x>2+5-12-12a

—14x>-5-12a

v < 54+ 12a

- 14
REAS BESE Al Hugro] | o=z
5+12a 1 1
" 201]1 0+ 24a, 24a =4, a 5

. éz, 5HTHAHE FASO|BR x =3, y=1
X

X2 4+yP=324+12=10




